SN BAFH
Hu: BALCAM(HAES /BB UL

ol ASEAN BAMN ST (B9 &2

SAN-ZH-SA(FA) - NFAY - BES O AF K J|E HwsZ

23} 50,743, 185 46,270,392 4,472,793

=2 22,868,455 22,225,500 642,955

2 8,580,000 8,580,000 0

= 19,294,730 15,464,892 3,829,838

BALCAL(BALS/BASSAY 5,136,900 4,116,900 1,020,000

=2 1,920,000 1,720,000 200,000

= 3,216,900 2,396,900 820,000

NS BAYY =W 5,136,900 4,116,900 1,020,000

=2 1,920,000 1,720,000 200,000

= 3,216,900 2,396,900 820,000

HEA =MEA AIEEH(2D) 1,616,760 1,506,760 110,000

= 1,000,000 1,500,000 500,000

= 616,760 6,760 610,000

201 Y2yl 8,000 0 8,000

01 AFR 22/t 8,000 0 8,000

O=MTAl M2t U2E 2 8,000 0 8,000

301 YA 2,000 0 2,000

10 BALAH B AS 2,000 0 2,000

O=MTAl M2t H2E 2 2,000 0 2,000

403 REXISHSKHZ 0| H 1,600,000 1,500,000 100,000

=2 1,000,000 1,500,000 500,000

= 600,000 0 600,000

01 XXICHI2EE 1,600,000 1,500,000 100,000

OMEIL =MTAl £4 1,600,000 1,000,000 600,000

=2 1,000,000 1,000,000 0

< 600,000 0 600,000

0=t =M E4 0 500,000 500,000

= 0 500,000 500,000

2EMEBYENTTE(ZD) 650,000 0 650,000

= 500,000 0 500,000

= 150,000 0 150,000

403 REXISHSKHZO0|H 650,000 0 650,000

= 500,000 0 500,000

= 150,000 0 150,000

01 MXSHA=EE 650,000 0 650,000

0=t =M T4 650,000 0 650,000

= 500,000 0 500,000

= 150,000 0 150,000

HEA U-Eco City ZAAR (2 D) 260,000 0 260,000

= 200,000 0 200,000

= 60,000 0 60,000

403 REXISHSKHZO0|H 260,000 0 260,000

=2 200,000 0 200,000

= 60,000 0 60,000
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HE: HALCAL(HLBS/HLBSU)
Ol MSEHEN HAUY =X

SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ
01 TUXIEHMAZE = 260,000 0 260,000
Ou-City =4« 260,000 0 260,000
= 200,000 0 200,000
s 60,000 0 60,000
Mestd HH(BBES/HIIZ) 22,880,661 22,370,073 510,588
= 16,259,000 16,109,000 150,000
= 6,621,661 6,261,073 360,588
MEH HIIZ2 E8XHc 1,229,661 884,073 345,588
= 480,000 330,000 150,000
< 749,661 554,073 195,588
HJI29 otEE 2| 721,461 525,873 195,588
308 AXIEHHSOIA 668,330 488,330 180,000
01 MXEHHMBdELS 668,330 488,330 180,000
OYgX&elolE Hel 180,000 0 180,000
403 A XIEHHSXH=01H 44,631 29,043 15,588
02 SISO HStCHE AL I 44,631 29,043 15,588
Osetgld, SXE =HAMY 28 44,631 29,043 15,588
BRALEEHY 22AdMARS(=1) 150,000 0 150,000
= 150,000 0 150,000
308 AXIEHHSOIA 150,000 0 150,000
= 150,000 0 150,000
01 MXEMIAELS 150,000 0 150,000
OANHEZSHE=H 0l A2z 150,000 0 150,000
= 150,000 0 150,000
HIOI2XM2IANLEES 21,651,000 21,486,000 165,000
= 15,779,000 15,779,000 0
< 5,872,000 5,707,000 165,000
SSHESIIBAIE #5(31) 1,001,000 836,000 165,000
= 570,000 570,000 0
< 431,000 266,000 165,000
403 A XIEHSXH=01H 1,001,000 836,000 165,000
= 570,000 570,000 0
S 431,000 266,000 165,000
01 MHXIEMA=ZE = 1,001,000 836,000 165,000
OZSSMEE JIBtAIE E#E('090EHE=) 165,000 0 165,000
Uolgd EX(SZES/U0I) 9,838, 140 7,214,590 2,623,550
= 3,977,000 3,923,500 53,500
< 5,861,140 3,291,090 2,570,050
ZEA HIOIQUE NUsSX H=3 ALY 9,607,760 6,984,210 2,623,550
= 3,790,000 3,736,500 53,500
< 5,817,760 3,247,710 2,570,050
HAINATISIHNGY) B2(=212) 1,027,000 957,450 69,550
= 790,000 736,500 53,500
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oel: dEF HOIQNE NSA H=3 Al (et =3

SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
S 237,000 220,950 16,050
403 AXIHHSA=01H 1,027,000 957,450 69,550
= 790,000 736,500 53,500
S 237,000 220,950 16,050
01 MXISMA=2E = 1,027,000 957,450 69,550
OFHINMA NS E= 1,027,000 957,450 69,550
= 790,000 736,500 53,500
= 237,000 220,950 16,050
ZESZUIOIQUER SR HEa At 2,580,760 26,760 2,554,000
201 LEH2HH| 50,000 0 50,000
01 AtS2t2ibl 50,000 0 50,000
OXAd HE =2 50,000 0 50,000
401 Al&HIZL=ROHYI 1,004,000 0 1,004,000
01 AlZHI 1,004,000 0 1,004,000
A oS 1,000,000 0 1,000,000
OAEEX 2HEI =2 4,000 0 4,000
502 X3 1,500,000 0 1,500,000
o1 skt 1,500,000 0 1,500,000
OHIOI20E NHSA HE2SALY Xt 1,500,000 0 1,500,000
NASBEM(BEES/AA) 12,586,215 12,267,560 318,655
= 712,455 473,000 239,455
& 8,580,000 8,580,000 0
= 3,293,760 3,214,560 79,200
Acsd 28 L Ad &5 11,800,760 11,510,760 290,000
= 210,000 0 210,000
= 8,580,000 8,580,000 0
S 3,010,760 2,930,760 80,000
TAMEY 2402 X3 (21) 60,000 0 60,000
= 60,000 0 60,000
308 AXIEHHSOIA 60,000 0 60,000
= 60,000 0 60,000
01 MXEHMIANELS 60,000 0 60,000
OXNAME R0t XI& 60,000 0 60,000
= 60,000 0 60,000
MEHRAEH 100,000 50,000 50,000
308 NXIHHSOIH 100,000 50,000 50,000
01 MXEMISELS 100,000 50,000 50,000
OHMENH wts HA - EX 50,000 0 50,000
SVMEI RS EYRE T4 (=31) 180,000 0 180,000
= 150,000 0 150,000
< 30,000 0 30,000
403 XXX SA=01d 180,000 0 180,000
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M [OSASH(BALS/KO)
CHel NOEE B U AL B o R
SA B G(E) - NEAY - B Abod o1& o =
= 150,000 0 150,000
= 30,000 0 30,000
01 NS =EE 180,000 0 180,000
O2EMEHL2 TAAY 180,000 0 180,000
=2 150,000 0 150,000
[ 30,000 0 30,000
ME . A2 25 B2 785,455 756,800 28,655
= 502,455 473,000 29,455
[ 283,000 283,800 800
M2CIA 22H S K| (2D) 73,333 96,800 23,467
= 50,000 66,000 £16,000
[ 23,333 30,800 AT, 467
403 KHXISHHIS K= 0| & 73,333 96,800 23,467
= 50,000 66.000 ~16,000
[ 23,333 30,800 AT, 467
01 IS =EE 73,333 96,800 A23,467
OMSCIYS 22| e 73,333 96.800 N23,467
= 50,000 66,000 16,000
[ 23,333 30,800 AT, 467
OHMEE2 PEpME 2H(2D) 212,122 160,000 52,122
=] 95,455 50,000 45,455
[ 116,667 110,000 6,667
307 2120 & 212,122 160,000 52,122
= 95,455 50,000 45,455
= 116,667 110,000 6,667
02 QIHAMEE 212,122 160,000 52,122
OOIMEZ RXME 29 212,122 160,000 52,122
= 95,455 50,000 45,455
[ 116,667 110,000 6,667






